mass:=0.5kg F:=100N a:=2m k:=—=50 —
a m
k 1 2. 1 1
W= =10— T=2""-0628s5 v=—=1.592—
mass s Wy T s
B:=300 z:=1 Define outside of the t:=0s

solve block. Otherwise
the variables are visible

inside the block only

m:A-cos(wo-t>+B-sin<w0-t>

A:=find (A)

clear (t)
z(t)=A-cos (wy+t) +B-sin (wy - t)
z(1 ms)=4
W(t)— 2 The function can't be used symboically because you can't

evaluate solve blocks symbolically in Prime (a is not defined for
the symbolics)

Here is a workaround

A=A=1 Now the symbolics use the result after the = and
forgets aboutr the solve block

z(t):=A-cos <w0°t> +B-sin <w0~t>

x(l ms):4
. 10t
:I:(t)—>COS( +300-sin( )
S s
o 3000-cos |22t ) _10.in (10
d . simplify s s
—x

dt S



If you want full symbolics,
clear the variables for
symbolic use:

clear gy, (wy,A,B)

svm (
z(t):=A-cos <w0-t) +B-sin (wo- t>

ol
im t i Zfi wy+B-cos (woot> —wy+A-sin <w0-t>
dt




